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Grade 4 Math Worksheet: Subtraction (Difficulty Level: Intermediate)

Name:
Date:

Part 1: Subtract the following numbers.

4,852 - 2,389 =
6,475 - 3,251 =
9,802 -4,617 =
7,643 -5,218 =
8,901 - 3,786 =
5,620 - 2,437 =
3,900 - 1,585 =
6,142 - 2,998 =

N>R WD =

Part 2: Word Problems Set
Read the word problems carefully and solve them:

1. At the bakery, there were 4,563 cupcakes in the morning. By noon, 2,897
cupcakes were sold. How many cupcakes are left?

2. A school library had 9,142 books. After a book donation, 1,750 new books were
added. How many books are in the library now?

3. In aforest, there were 13,234 trees. Over the years, 5,471 trees were cut down.
How many trees are still standing in the forest?

Part 3: Subtracting Across Zeros

8,500 - 2,067 =
3,600 - 1,429 =
9,000 - 4,598 =
7,200 - 3,009 =
5,000 - 2,301 =

o bbb =
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Part 4: Mixed Practice

5,984 - 2,374 =
4,703 - 1,982 =
10,500 - 5,384 =
8,100 - 3,929 =
6,390 - 4,201 =

a bbb =

Extra Practice: True or False?
Circle whether the statement is True or False:

6,845 - 2,731 = 4,014 - True / False
7,561 - 1,629 = 5,932 - True / False
9,234 - 5,210 = 4,034 - True / False
8,700 - 3,894 = 4,806 - True / False
5,903 - 2,483 = 3,420 - True / False

abkown =

Bonus Challenge!

1. 4,760 - 2,893 =
2. 10,500 - 3,678 =

-BE THE CHAMPION!--



